


§a=m ©

ADAPTERS 1 2

How To Order Adapter

1 Straight part NO.

Straight series 1 Leftsize code — Right size code —1 L Material

2 Elbow part NO.:Add suffix “4” for 45° elbow and suffix “9” for 90° elbowto the straight part numbe
e.g,1BG9-040G and 1JT4-08-06SP.

3 Tee part NO.

N Gt N et I B S B B R

Tee series —1 Left size code — Mid size code JRightsize code—i L Material

4 CrosspartNO.

Cross series —I Size code—] 1—

IMaterial

In general for cross fitting,the four ends thread is the same.If different,the first group means left,the
second group means up,the third group meansright and the fouth group means down.

MATERIAL CARBON STEEL BRASS STAINLESS STEEL
Code | e BR S8




o= ©
ADAPTERS 1/

6 Size codetable:

G1/8" | G114 cyg' | ¢12" | esp | cuat | Gt |c1aMt| ¢1ipot| et
BSPTHREAD | Xx28 | X19 X19 | X14 | X14 | Xx14 X11 X11 X11 X11
R1/8" | R1/4" R3/8" | R1/2" | R3/4" | R1" |R1.1/4"|R1.1/2"| R2'
BSPTTHREAD | Xx28 | X19 X19 | X14 X14 | X1 X11 X11 X11
zZig | z1/4" zam" | z1/2" G4 | z1* | z1.14"| z142"| Z2
NPTTHREAD | Xx27 | x18 x18 | Xx14 X14 | X115 | X115 | X115 | X115
7116" | 1/2* | one" | 3 7/8" | 1.1/16" | 15/16" | 158" | 1.7/8" | 2.1/2"
JIC THREAD X20 | X20 | x18 | Xx16 | X14 | Xx12 | x12 | x12 | x12 | x12
9/16" 11/16" | 13/16" 1" | 1.316" | 1.7/16" | 1.11/16" o
ORFS THREAD X18 X16 | X16 | x14 | x12 | x12 | X12 | xq2
5/8" | 1ane |
SAE THREAD X18 X14
oismere | T 1/2" 5/8" | 3/4" i 1.1/4" | 1.1/2" 2"
SIZECODE| 02 04 05 06 08 10 12 16 20 24 32
Note:The dash of metric thread accords with the O.D. Of thread

Exapmle:
If1BG’ left endthreadis G1/2"X14,andright end threadis G3/4"X14,the fitting numberis 1BG-08-12. If made

of stainless steel,the fittingnumberis 1BG-08-12SS,
IfAJIN’ left end threadis 9/16"X18,mid end thread is 9/16"X18 and right end thread is Z1/2"X14 the fitting number

isAJJN-06-06-08.




OTHERADAPTERS

OTHER
ADAPTERS

METRIC MALE
DOUBLEUSEFOR G0°
COME SEAT
OR DONDED SEAL

METRIC MALE DOUBLE
USEFORG0° COMNE SEAT
ORBOMNDED SEALPLUG

METRIC MALE CAPTIVE
SEALHOLLOW
HEX PLUG

BSF MALE O-RING

H

BSF MALE
C-RING PLUG

METRIC MALE
L- SERIES SO 6149-3

P244

METRIC MALE
S- SERIES SO 6149-2

METRIC MALE L-SERIES
FLUGISOB6148-3

METRIC MALE L-SERIES

SAE O-RINGBOSS

SAE O-RING BOSS

SAE O-RING BOSS

HOLLOWHEX FLUG PLUG L-SERIES PLUG L-SERIES HOLLOWHEX FPLUG
IS0 6149-3 SO 11926-3 IS0 11926-3 L-SERIES SO 11826-3
4

SAEMALE 90° CONE
FLUG SAE J513

=
S

SAE O-RINGBOSS
L-SERIES SO 11926-3/
SAE FEMALEISC 11926-1




§ = ©

OTHERS ADAPTERS 124

L

1M

A . B
4 7% g
60°| w ‘ ‘ w|60°
t j METRIC MALE DOUBLEUSE FOR 60°
81

CONE SEAT OR BONDED SEAL

THREAD DIMENSIONS

PART NO. E F A B L S1
1M-10 I 101 10X g g 24 14
1M-10-12 M10X1 M12X1.5 o] 10 26 8T
1M-12 M12X1.5 M12X1.5 10 10 28 17
1M-12-14 M12X1.5 M14X1.5 10 11 29 19
1M-14 M14x1.5 M14X1.5 11 11 30 19
1M-14-16 M14x1.5 M18X1.5 11 T A 22
1-16 M16X1.5 M16X1.5 12 12 32 22
1M-16-18 M168X1.5 M18X1.5 12 7i2) 34 24
1M-18 M18X1.5 M18X1.5 12 12 34 24
1M-18-22 M1B8X1.5 M22X1.5 {1 14 38 27
1M-20-22 M20%1.5 M22X1.5 14 14 38 27
1 M-22 M22X1.5 M22X1.5 14 14 38 27
1M-22-26 M22X1.5 M26X1.5 14 16 43 a7
1M-22-27 M22X2 M27 X2 14 16 43 83
1M-22-27D M22X1.5 M27X1.5 14 16 43 32
1M-26 M28X1.5 M26X1.5 16 fi 45 32
1M-26-30 MZ2BX1.5 M3I0X2 16 18 47 36
1M-26-30D MZ2BX1.5 M30X1.5 16 18 47 36
M-27 M27X2 M27 X2 16 16 45 32
1M-27D M27X1.5 M27X1.5 16 16 45 a2
1M-30 M30X2 M30X2 18 18 49 36
IM-30D M30X1 5 M30X1.5 18 18 49 36




N a= ©

OTHERS ADAPTERS 124

L
B
st 4M
R A
/| | w 60° ©
J METRIC MALE DOUBLE USE FOR 60
CONE SEAT OR BONDED SEALPLUG
THREAD DIMENSIONS

PART NO. F B L S1

41-10 M 10X 1 8 15 14

4112 M12X1 5 10 17 17

4114 M14X1 5 11 19 19

41-16 M1BX1 5 12 20 5

4M-18 M18X1 5 12 20 24

41-20 M20X1 5 14 o 27

41-22 M22X1 5 14 23 27

41-24 M24 X1 5 14 25 30

410-26 M26X1.5 16 28 32

4M-27D M27X15 16 28 32

41-30 M30X2 18 30 36

4M-30D M30X15 18 30 36

L
A
( 81 4AMN-WD
w
METRIC MALE CAPTIVE SEALHOLLOWHEX PLUG
THREAD CAPTIVE DIMENSIONS

PART NO. E E A L S1
4MN-10WD M10X1 WD-B0?2 8 12 5
4MN-12WD M12X15 WD-M12 12 17 8
4MN-14WD M14X15 WD-B04 12 17 8
4MN-1BWD M16X1.5 WD-M16 12 17 8
4MN-18WD M18X1.5 WD-M18 12 17 8
4MN-20WD M20X1.5 WD-M20 14 19 10
4MN-22WD M22X1.5 WD-M22 14 19 10
4MN-2BWD M26X1.5 WD-B12 16 21 12
AMN-27WD M27 X2 WD-B12 16 21 12
4MN-33WD M33X2 WD-B16 18 24 5 17
4MN-42WD M42X2 WD-B20 20 265 22
AMN-48WD M48X2 WD-B24 22 28 5 24




N a= ©

OTHERS ADAPTERS 1724

1G
w s
BSP MALE O-RING
THREAD O-RING DIMENSIONS
PA .
RT NO E = E E A B L s1
1G-02 G1/8"X28 G1/8"X28 0N o011 9.5 9.5 28 14
1G-04 G1/4"X19 G1/4"X19 o111 TR 11 11 2, 19
1G-06 G3/8"x19 G3/8"X19 0113 o113 11.8 195 36 22
1G-08 G1/2"X14 G1/2"X14 TR Q115 14 14 44 P
1G-12 G3/4"x14 G3/4"X14 0119 o119 Th.5 152 48 A2
1G-16 G1"X 11 G1"X11 0217 0217 18 18 55 41
13-20 G1.1/4"X11 G1.1/4" X 11 0222 Q222 20 20 61 50
1G-24 G1.1/2"%11 G 12X 11 0224 0224 Py TS 64 Bl
L
A
P 4G
w
BSP MALE O-RING PLUG
THREAD O-RING DIMENSIONS
PA .

RT NO E E A L S1
4G-04 G1/4"X19 o111 1 19 19
4G-06 G3/8"X19 i 1f 5 22 22
4G-08 G1/2"X14 01158 14 2 27
4G-12 G3/4"X14 0118 R 29.5 e
4G-16 G1"X11 Q217 18 34 41




OTHERS ADAPTERS

= ©

1H
w
METRIC MALE L-SERIES ISO 6149-3
THREAD O-RING DIMENSIONS
HARTNO. E F E F A B L s1
1H-10 W10X1 10X 008.1X1.6 008.1X1.8 8.5 3.5 28 14
1H-12 M12X1.5 M12X1.5 009.3X2 4 009.3X2 4 11.0 11.0 2 17
1H-14 M14X1.5 M14X1.5 0113X24 0113X24 11.0 11.0 33 19
1H-16 M16X1.5 M16X1.5 013.3X2 4 013.3X24 1S i 34 22
1H-18 WM1841.5 WM18X1.5 015.3X24 0153X24 12.5 1245 36 24
1H-22 M22X1.5 M22X1.5 019.3X2 4 018.3X2 4 13.0 {lEn o) 39 BiEE
1H-27 M27X2 M27X2 0235X3.0 0235X3.0 16.0 16.0 45 32
1H-33 M33X2 M33X2 029 5X3.0 029 5X3.0 16.0 16.0 48 41
1H-42 M42X2 M42X2 038.5X3.0 038.5X3.0 16.0 16.0 50 50
1H-48 M4 8X2 M48Xx2 044 5X3.0 044 5X3.0 17.5 17.5 53 5]
NOTE: Fitfor1SO 9974-1 portor ISC 6149-1 portwhen useless of retaining ring.
L
B
m. 1H-H
w w
J METRIC MALE L-SERIES ISO 6149-2
1
THREAD O-RING DIMENSIONS
PART NO. E F E F A B L S1
1H-10H 110X W10X1 008.1X1.6 008.1X41.8 9.5 9.5 31.0 14
1H-12H M12X1.5 M12X1.5 0089.3X2 4 008.3X2 4 {i.1e) { 0] 255 17
TH-14H MW14X1.5 W14X1.5 011.3X2 4 0113X24 11.0 11.0 355 19
1H-16H M16X1.5 M16X1.5 013.3X2.4 013.3X24 12.5 ity 390 3
1H-18H WM18x1.5 WM18X1.5 015.3X24 015.3X2.4 14.0 14 .0 420 24
1H-20H M20X1.5 M20X1.5 017.3X2.4 017.3X2.4 14 .0 140 420 27
1H-22H M22X1.5 M22X1.5 019.3X2.4 019.3X2.4 15.0 15.0 46 .0 27
1H-27H M27X2 M27X2 @23.5x310 023 5X3.0 18.5 168.5 555 32
1H-33H M33X2 M33xX2 0295X3.0 029 5Xx3.0 18.5 18.5 56.5 41
1H-42H W4 2x2 M42K2 038.5X3.0 038.5X3.0 19.0 19.0 58.0 50
1H-48H WM48X2 M48x2 044 5X3.0 044 5X3.0 21.5 215 63.0 55

MNOTE: Fitfor SO 6149-1port.




OTHERS ADAPTERS

= ©

4H
w
METRIC MALE L-SERIES PLUG ISO 6149-3
s1

THREAD O-RING DIMENSIONS
PART NO. £ E A L S1
4H-12 M12X1.5 009.2X2 .4 " 21t 17
4H-14 M14X1.5 011.3X24 11 HHeERs 19
4H-16 M1641.5 013.3X2.4 12.5 23 22
4H-18 M18X1.5 015.3X2.4 14 24 5 24
4H-22 M22X1.5 019.3X2.4 15 275 27
4H-27 M27 X2 023 5X3.0 18.5 o 32
4H-33 WM33X2 0295X3.0 185 345 41
4H-42 M42X2 038 5X3.0 19 37 50

NOTE: Fitfor SO 9974-1 portor IS0 6149-1 portwhen useless of retaining ring.
L
4HN
/ﬂ
w METRIC MALE L-SERIESHOLLOW
HEXPLUG ISO6149-3

THREAD O-RING DIMENSIONS
PART NO. E E A L S1
4HN-10 M10X1 008.1X1.6 8.5 11.5 5
4HNMN-12 M12X1.5 009 .3X2 4 11.0 14 f
AHN-14 M14X1.5 011.34X24 11.0 14 3
AHMN-16 WM16X1.5 013.3X2 .4 5 14 3
4HNMN-18 M1641.5 015.3X2.4 12.5 15.5 3
4HN-22 M22X1.5 019.3X2 .4 13.0 16 10
AHMN-27 M27 X2 023 5X3.0 16.0 19 12
4HN-33 WM33X2 029 5X3.0 16.0 20 17
AHMN-42 M42xX2 0385X3.0 16.0 22 22
4HN-48 M48X2 044 5X3.0 i Sileh 24

NOTE: Fitfor1SO 9974-1 portor IS0 6149-1 portwhen useless of retaining ring.




N a= ©

OTHERS ADAPTERS 124

L
A ﬁ 2 10-0G
=\ s
N\
- P w SAE O-RING BOSS PLUG L-SERIES ISO 11926-3
81 s2
THREAD O-RING DIMENSIONS
PA :
RINE E F E F Al B | L |s1]| s2
10-040G 7/16"X20 7/16"X20 0804 0804 9.14 18 33 14 17
10-04-060G 7/16"X20 9/16"X18 0804 0806 9.14 20 35 17 19
10-060G 9/16"X18 9/16"X18 0806 0806 9.93 20 36 17 19
10-06-080G 8/16"X18 3M4"X16 0806 0808 9.83 22 40 22 24
10-080G 3/4"X16 3/M4"X16 0908 0908 11.13 22 40 22 24
10-08-1206G 3/4"X16 1.1/16"X12 0808 0812 11.13 29 51 32 32
10-100G 7/8"X14 7/8"X14 0810 0810 12:4 26 46 27 27
10-120G 1.1/16"X12 el 0812 0812 e 24 54 32 32
10-160G 1.5/16"X12 1.5/16"X12 0916 0916 15.1 29 54 368 41
10-200G 1.5/8"X12 1.5/8"X12 0820 0820 15.1 25 54 50 50
10-240G 1.7/8"X12 1.7/8"X12 0824 0924 15.1 29 54 55 55
L
A
40
w
| 81 SAE O-RING BOSS PLUG L-SERIES ISO 11926-3
THREAD O-RING DIMENSIONS
PART NO. E E A L S1
40-02 5/16"X24 0902 7.54 14.6 12
40-03 3/8"X24 0803 7.54 14.6 14
40-04 7/16"X20 0904 9.1 16 14
40-05 1/2"X24 0805 8.1 16 17
40-06 89/16"X18 0806 8.8 17.5 17
40-08 3/4"X16 0808 el el 22
40-10 7/8"X14 0810 2.7 23 2
40-12 1.1/16"X12 0812 15 26 .5 32
40-14 1.3/16"X12 0914 15.1 27 36
40-16 1.5/16"X12 0816 15 AT 38
40-20 1.5/8"X12 0820 15.1 30 50
40-24 1.7/8"X12 0824 15.1 30 55
40-32 2.1/12"X12 0832 15.1 32 70




N a= ©

OTHERS ADAPTERS e i)

- L -
A
N 40N
1 -.\ s1
w SAE O-RING BOSSHOLLOW
| HEX PLUG L-SERIES ISO 11926-3

THREAD O-RING DIMENSIONS
PART NO. E C A 15 S1
40N-04 T/16"X20 0904 9.1 11.5 5
40NM-05 1/2"X24 0905 9.1 s g
40NM-08 9/16"X18 0906 9.9 12.2 3
40N-08 3/4"X16 0908 ] 14 .3 3
40M-10 7/8"X14 0910 12.7 16 10
40N-12 1.1/16"X12 0912 e 19 14
40NM-18 1.5/16"X12 0916 151 19 16
40N-20 1.5/8"X12 0920 151 19 19

L—‘
4P
/‘/7
20° w
\LU SAE MALE 90° CONEPLUG SAE J513
$1

THREAD DIMENSIONS
PART NO. E A L S
4P-04 7/16"X20 12.7 18.5 14
4P-05 1/2"X20 14 .2 20 14
4P-08 5/8"X18 157 29 17
4P-08 3/4"X16 19 27 22
4P-10 7/8"X14 224 30.5 24
4P-12 1.1/16"X14 254 355 30




OTHERS ADAPTERS

iz

N a= ©

50
w w
SAE O-RING BOSS L-SERIES ISO 11926-3/
o1 SAE FEMALE 1SO 11926-1
THREAD O-RING DIMENSIONS

PART NO. E F E A L S1
50-04-06 T/16"X20 9/16"X18 0o04 9.14 31 22
50-06-04 9/16"X18 B ea 0906 9.93 28 17
50-08-08 9/16"X18 3/4"X186 09086 9.93 36 27
50-08-06 34K 16 9/16"X18 09808 iz S 22
50-08-10 34" K18 7/8"X14 0908 11.13 38 30
50-08-12 34" K186 b NS S 0908 1103 36 B

50-10 T/8"A14 7/8"X14 0910 T 38 30
50-10-08 7/8"X14 9/16"X18 Q910 NET 20.6 i
50-10-08 T/8"A14 3/4"X18 0910 12 7 35 27
50-10-12 T/8"X14 1 1/16"X12 Q910 2T 43 36
50-12-08 1.1/16"X12 3/4"X186 0912 15.09 26 32
50-12-10 1.1/18"X12 7/8"X14 0812 diiss il 40 .5 32
50-12-16 1.1/18"X12 1 .5 B%2 0912 151 45 41
50-14-12 al eV s ) ], s s ) 0814 4l 43 36
50-16-06 1.5/18"X12 9/16"X18 09186 181 26 38
50-16-10 atab e ) e 09186 il 26 38
50-16-12 1.5/16"X12 1 1/16"X12 0916 15 1 43 5 8
50-16-14 1.5/16"X12 s e ) 09186 il 43 38
50-16-20 BT B2 TaefaixE2 09186 T8x1 46 .5 50
50-20-12 1.5/8"X12 11/16"X12 0920 151 35 50
50-20-16 1.5/8"X12 1.5/16"X12 0920 15 1 42 50
50-20-24 1.5/8"X12 1 7/8"X12 0920 15 1 43 55
50-24-16 1.7/8"X12 1.5/16"X12 0924 15 1 35 55
50-24-20 1.7/8"X12 15/8"X12 0924 151 45 55
50-32-20 2.1/2"X12 1.5/8"X12 0032 157 32 70
50-32-24 DR LR e 0932 151 37 70




	133
	134
	135
	18
	241
	242
	243
	244
	245
	246
	247
	248

